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ELEMENTS OF BOOK-KEEPING AND ACCOUNTANCY

: 3 UU2 | [ quiies @ 100
fme : 3 hours | | Max. Marks : 100

vl yE @ oer S | vdw ue & TR oad fog FuiRa o sifd €

pstruction ; Attempt all questions. Marks allotted to each question arc mentioned against them.

31 2012 @1 £ s wld @ geawt 4 Feafefag afeat @ a3 8- 20
fde 2y [4 wige oy E4

qde 12.400 ot 20,000

yRfRTE Biaar 14.000 fasfy 32.000

w 16,000 BT s 300

A 4,500 fafaer oFER 1,400

ffau dmeR 3,500 < fau= 1,100

LEERl 500 64 QU 200
o 300
L | 2.200
[ fagme 200
; I 300
; Liiisi it 300
? e R 500
; st et 100

55,000 55,000

3 A 2012 @ T € gl od @ e @ vd em—gifa wran qen anfefe fresr e
o A B W qREu-
(@) afm <efaar T 4500
(@) weF W 5% B S IEY |
(M) TR W 5% e @ | Fyr & T deg SIS
(8) 3w Augy ¥ 50 @1 ¥ 300 ¥
@) qdes fasme ¥ 50 &
(@) B2 & 2 100wt gl wal &
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On 31st March 2012, the following balances are taken from the books of Sri Asharfi

Debit Balances (4 Credit Balances T
Cash Balance 12,400 Capital 20,000 J
Opening Stock 14,000 Sales 32,000
Purchases 16,000 Discount Received 300 |7
Machinery 4,500 Sundry Creditors 1,400
Sundry Debtors 3,500 Bills Payable 1,100
Wages 500 Purchase Returns 200
Discount 300
Salary 2,200
Advertising 200
Commission 500
General Expenses 300
Bil! Receivables 500
Sales Returns 100

55,000 55,600

Prepare Trading and Profit & Loss A/c and Balance Sheet with following adjustments $
ending 31st March 2012—

(a) Closing stock ¥ 4,500.

(b) Charge 5% depreciation on Machinery.

(¢) Provision for bad and doubtful debts on debtors 5%.

(d) Outstanding wages T 50, outstanding salary ¥ 300.

(c) Prepaid advertising ¥ 50.

(i Discount T 100 accrued duc.

2 (@) do werd faare ¥ aur ey € 0 \Ids 98 921 9riged @ W6l A R @ e
%7 79 99l & es 5 e fear e 8 7 .
What is meant by Bank Reconciliation Statement 7 What are the reasons for the &if:
the balances of Cash Book and Pass Book ? How are these balances reconciled ?

(er) oY T @) UrRIgE H 31 AT 2012 @1 T 42,000 BT G WY AT, )G AFS Gd,
91 wre A s o
(i) ¥ 2160 F 4% 9 B ey 7 o A ol % YA B WRka el fam
(i) ¥ 2400 @7 I HyE B7 &g Woll W o ol 9P aga E gan
(i) T 1600 & ¥F T T I WA O7 T§ G S AT |
(iv) 9% F @Rl & AEw oY T 200 46 B T 3, fawg Jws ad § 9w

fasan Trar |
(v) 4@ 7T 60 BT TEX T 4,000 @ <7 fda o1 e R, W Iwe T H w
=2l farar T

d YHTaH fawer 9=y 9T IS AT S FAfTT
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Ason 3 st March 2012, there was credit balance of T 42.000 in the Pass Book of Sri Gupta but

the Balance as per Cash Book was diflerent due to the following reasons—

(1) A cheque of' ¥ 2.160 was given to Ramesh which was not yet presented to bank for
collection.

(i) Cheque amounting to ¥ 2,400 was sent for collection which has not been collected as yet.

(i) A cheque of T 1,600 which was sent to bank for collection was dishonoured.

(iv) Bank paid ¥ 200 for insurance as per instructions of the businessman, but the same has
not been entered in Cash Book.

(v) Bank paid ¥ 4,000 for a Bill payable allowing ¥ 60 as discount, but it has not been entered
in the Cash Book.

Prepare Bank Reconciliation Statement and ascertain Cash Balance.

ﬁﬁf&%ﬁﬂ?&?ﬁé?&ﬂﬁﬂ?ﬁfﬁﬂ@ﬁ?ﬂﬂﬁmwémaﬂm— 10
2012

W 1 RS W9 s T 12,000, §@ T 4,500,

W 3w wa e ol 9 g1 s B 71,500,

T 4 WA @ ABar @y T 750.

WA S A BT AwE BT 450,

a6 dw F o R ¥ 450,

W 9 /g ¥ T 600 MY R FwSAN A T 15,

e 12 9% g A wai & R e Rear T 750,

ha 15 <7 fadt @1 e far 900,

e 28 9T H S BGA T 300.

On the basis of the following transactions, prepare a three-column Cash Book

2012

April 1 Openting balance : Cash ¥ 12,000; Bank ¥ 4,500.

April 3 Goods purchased and payment made by cheque ¥ 1,500,

April4  Cash sales ¥ 750.

April5 Cash sales T 450.

Aprit6  Deposited in Bank ¥ 450,
April 9 Received from Mohan ¥ 600 and allowed ¥ 15 as discount.
April 12 Withdrew from bank for personal use ¥ 750.

April 15 Bills payable paid ¥ 900,

April 28 Deposited in Bank ¥ 300.
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fafvra R & qursnew § 7 AT R s WM I AR e ST e A AR £ 2 5
What is meant by Bill of Exchange ? What advantages are available to different parties using
Bill of Exchange 7

faffrr faus oy wfdsn—vs 4 a7 o=aw @ 7 s @i | 5

What is the difterence between Bill of Exchange and Promissory Note ? Explain.

dad A 1 e, 2012 B X 2000 B AE B QY IUR @G R g7 B0 3 AE o)
wﬁmwmﬁmwlmﬁgﬁmﬁ%ﬁm‘rﬁmﬁﬁ%mfﬁaﬁaﬁﬁﬁﬁ
forarr | <ar ffd o) faet srrga &1 W ok T 10 AT @ @ e |

98l SR F DI RAB! H AT T o BT 10
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Bansal purchased goods on credit for ¥ 2000 from Kansal on 1st April 2012 and acc
for 3 months duration. Kansal discounted the Bill same day from the Bank @35%
The bill was dishonoured on due date and ¥ 10 was paid as noting charges.
Pass necessary journal entries in the books of Bansal and Kansal.

gi%ﬁfé?mﬂvﬁﬁmm%?gﬁtﬁaﬂmﬁmmaﬁmmﬂgﬁﬁﬁgmqa
W Iy |

What do you mean by Rectification of Errors ? Classify errors and explain the ob
rectification of errors.

T BH B gl 31 fawmr, 2012 @ e srgfeat ol T 8-

(i) SREFET Ha= B gig F T 7 T 6000 B vHH wWET Wi A e &

(i) ARE I O T 500 &1 AP ST AT &Y AT AT IwH! WY w1 @i ¥ 26

(iii) T 400 ¥eY BT AT Sl IV 75 FIT SSTAT 747 T, ¥2&iep ) wnfdet o iy
P P AT Tl g3l |

(iv) WY @ wReEa A Sl A T 1120 3 @ vl wen | S &)

(v) @I Uq 7RI @ gig @ # o) 718 T 900 3 I Aot Wi ¥ 9w

Sufa 3R F1 & T B g w @ ot ¥ Sfr sRifear @i

As on 31st December, 2012 the following errors were found in the books of a firm -

(1)  Asum of ¥ 6000 spent on the extension of the factory building was charged to
Account,

(i) A cheque of ¥ 500 received from Ram Singh was dishonoured and the amount wa
to Allowance Account.

(iii) Goods valued ¥ 400 was returned from Ramesh Chandra was also entered in stock
but it was not posted in any Account. :

(iv) A sum of T 1120 spent on the repairs of a machine was added to the value of

(v) T 900 spent on the extension of Plant and Machinery was entered in Wages Ac

For the rectification of the above crrors pass necessary journal entries in the books of

BN O "edl g% 99 Ugfh j v @ar e € ? g9 v o <Y aaige |
What do you understand by Diminishing Balance Method of Depreciation ? Explaini
and demerits,

TEERT 1, 2007 @7 U " T 10,000 ¥ wy @ Y| wmdt g ugfdy  10% v
dled gY 5 9 @ foy w79 Wi agy ) g8 6 o & 5w @ safie Tm
T& & |

A machine was purchased for T 10,000 on 1st January 2007. Prepare Machine Ac
5 years charging depreciation (@ 10% per annum on Fixed Instalment basis. It is pres
the residual value of the machine is nil.
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